Operation Instructions for Side Opening Door System

(THP131-52/53)

NINGBO SHENLING LIFT ACCESSORIES CO., LTD.
Contents

1. Products introduction………………………………………………………..1
2. Installation and adjustment…………………………………….…………...2
2.1 Installation of car door device………………………………………….2
2.2 Adjustment of car door device…………………………………………4
2.3 Installation of landing door system……………………………………6
2.4 Damageable parts…………………………………………………………7
3. Maintenance and protection…………………………………………………8
1  Products introduction
1.1  Technical parameter
Input voltage :AC220V±10% ; Rated output power of inverter : 400W ;
Door opening width :JJ700—1800mm .

1.2  Work condition

Height above sea level cannot exceed 1000m.

Temperature : -5℃－50℃;

Relative humidity can not exceed 35%(when temperature is 25℃);

Voltage:200V－250V, 50—60Hz

No explosion risk, no caustic or insulation destroy gas and electric dust.

1.3  Structure principle
   THP131-52 type adopts synchronous belt to drive non-synchronous door operator, VF control with non-synchronous door vane.

   THP131-53 type adopts synchronous belt to drive synchronous door operator, VF control with synchronous door vane.

   Electric control system of above-mentioned two door operators are same, which adopts PLC to control inverter to vary speed, in order to have the best speed curve during opening and closing. It has main advantages as high efficiency, high reliability, high power factor and excellent variable speed, simple to operator, small starting current, less mechanical vibration, perfect protection and easy to closed loop adjustment and so on. 

   The main distinction of this two door operators is at structure: THP131-53 adopts synchronous door vane, its mechanical device makes sure that draw in door vane first, deflate landing door header, and lead landing door to open, then let loose door vane, secede pulley of landing door header, during the whole opening and closing course, landing door keeps flat with car door. THP131-52 adopts non-synchronous door vane.

   All of this two products decelerate by V-belt, drive by synchronous belt to run smoothly.  

2  Installation and adjustment
2.1  Installation of car door device

2.1.1  Installation arm: Setting installation arm on the straight beam of cabin as per drawing 1, fixed temporarily after connected diagonal rod, and then tighten bolt after adjusted door operator; Install door operator with installation arm at A-point position.
   
[image: image1.wmf]M16×403

EE

50

143.5

Diagonal rod

3-A Hole

3-A Hole

Installtion arm

  Elevatory cabin: HH+510

Standard cabin: HH+405

Base line of car sill

             Drawing 1
2.1.2  Car door operator: Adjust the distance of door operator through the hole of installation arm as per drawing 1, make sure the horizontal distance is 58±1mm and 94±1mm from rail to sill, and height is HH+90±1mm showed in drawing 2, connect horizontal drag link according to the general installation drawing. Above-mentioned dimension should be coincident at both sides of door operator. The height and horizontal distance between landing door rail and sill as showed in drawing 2.

[image: image2.wmf]55

±

1

42.5

±

1

7

96

96

HH+90

±

1

94

±

1

30

81.5

±

1

HH+65

Car door sill

Landing door sill


Drawing 2
2.1.3  Car door panel: Fix the door panel by M10 bolt of small parcel as per drawing 3, increase or decrease washer between panel and hanger plate to adjust vertical if the panel is inclined. Insure the inclination and center gap of panel are below 2mm. Fix door shoes as per drawing 4m Increase and adjust washer between door shoe and door panel to make parallel of fast and slow panels. Insure the distance from fast panel to the top of car sill is 24mm, the gap between fast and slow panel is 4±1mm, between car door panel and car sill is 5±1mm.

[image: image3.wmf]5mm

±

1

24mm

±

1

96mm

40mm

32mm

Washer

Car door sill

Door shoe

Washer

            Drawing 3                              Drawing 4 
2.1.4  Installation of door vane: THP131-52 Install the door vane in the fast car door panel as per drawing 5, use bolt to connect the brace of door vane with link, other side of link connect with bracket of over sling, and adjusted to meet the requirement as showed in drawing; THP131-53, use standard pars to connect synchronous door vane with hanger plate of fast panel.

2.1.4.1  Dimension from door vane protrude car sill: check the protrusive amount of door vane as per drawing 6, adjust the washer between panel and door vane if it is not measure up to requirement.
2.1.4.2  Adjustment of door vane: The position of door vane and roller according to drawing 7: THP131-52 A=B=10±1mm; THP131-53 A=13±1mm; B=7±1mm;
2.2  Adjustment of car door device

Products have been adjusted before came out factory, but considering that installation and movement may have a influence on precision of size, the followings need for adjusting on the

spot:

2.2.1  Measure of door closing: the distance between two hanger plants should be 40mm when the door closes completely, please adjust the screw length of wire rope in hanger plate little if not. Check whether the measure of door opening course is of attainment. THP131-52: Door course in high speed is JJ+40; Door course in low speed is JJ/2+20. THP131-53: Door course in high speed is JJ+20; Door course in low speed is JJ/2+10. Please adjust the protrusive of hanger plate little till ok if not.


[image: image4.wmf]3/2JJ-205.5

200

272

70

131

5

Side plate of over sling

72

Connective rod 

Car door course 

in high speed

                                        Drawing 5
  
[image: image5.wmf]30

8 

±

1

8

±

1

72 

±

1

A

B

Roller

Car door sill

Landing door sill

Roller


Drawing 6                            Drawing 7
2.2.2  Synchronous belt tension: Measure and adjust the tension of synchronous belt following drawing 8, through moving the roller on left to accomplish decorous tension, in order to dispel noise which begot by friction between synchronous belt and roller.

[image: image6.wmf]14～18mm �

0.5Kgf

Tension direetion


                          Drawing 8
2.2.3  Belt tension:

2.2.3.1  Adjust centerline of motor pulley and V-belt pulley to a plane, in order to dispel noise refers to drawing 9.

[image: image7.wmf]Motor pulley

V-belt pulley

B

A

(A+B)/2=1±1.5

A-B=±0.35


                                    Drawing 9
2.2.3.2  Measure and adjust tension of V-belt of motor following drawing 10, through moving the motor pedestal bolt to accomplish decorous tension.

2.2.4  The drag of hanger plate: Please adjust the interval of roller and rail under the hanger plate to 0.1-0.3mm can make door running smoothly if it gets too many drag.

[image: image8.wmf]Gtadient(A-B) of door plate 

    should be in 1mm

15

±

1mm

2Kgf

Roller of hanger plate

E=0.1--0.3

A=4

±

1

B=4

±

1

Upper roller

Door rail


Drawing 10                        Drawing 11
2.2.5  Safety edge: detailed as showed in drawing 12
2.2.5.1  Have been installed safety shoe on car door, adjust stopper , set the maximum value of shoe rotary bulge to 48±2mm;

2.2.5.2  Choose the length of connection rod A1 in accordance with required size and fix it temporary, then push the edge 16±2mm to the side of panel in full closed position, twist edge clockwise(contra clockwise if it is left), fix the cam and connection rod temporarily by 3 M6 bolts at the position that stopper touched hood, set the edge to ok. As per drawing 13

[image: image9.wmf]13

±

2

48

±

2

35

±

2

13

±

2

13

±

2

Door panel

Car frame

Car frame

Door panel

52 type

53 type

                                       Drawing 12

[image: image10.wmf]Drill φ4 hole at locale of installation.�

Then,the spring pin is inserted into

A1

Stopper B

Hood

Edge

Mirco-bwitch

Arm

Aluminium

Stopper A

Connected rod

M6 Screw

Pulley


Drawing 13
 2.2.5.3  Please confirm there is 13±2mm from the front side of safety edge in door fully opening position, should be decrease the length of connect rod (A1) if greater than 15mm, otherwise, increase the length.

2.2.5.4  When the door is fully open and the edge draws back at its maximal position, the stopper B is adjusted to touch to the arm. Then, the spring pin is inserted into and drill Ǿ4 holes and fixes it.

2.2.5.5  The micro-switch should be work when adjust the course of safety edge to 3-6mm with bolts.

2.3 Installation of landing door system
2.3.1  Sill support channel and sill

Use M12 hilti bolt to connect sill supporting channel with land, to keep center of sill and cabin entrance in the same position, and then use M8×20 bolt to fix sill to the supporting channel.
2.3.2  Jamb

Install according to drawing 14, to keep the center of jamb and cabin entrance in the same position, to ensure the door cover in the vertical position and fix it, and then solder jamb with pre-installed steel bars, and clean up to prevent rusty.

[image: image11.wmf]40

35

(107)

91

50

(112)

96

JJ

Sill


Drawing 14
2.3.3  Landing door device (use NB161001A001 Landing door device when JJ≤1200, use NB161001A006 Landing door device when JJ>1200).
Install the landing door device after finished the jamb, installation of landing door device and jamb according to drawing 15. Fix the landing door device temporarily with M2×100 hilti bolt in holes of the tope through installation stand. Tighten the bolts and nuts after adjusted over sling.


[image: image12.wmf]JJ

M10X30 Bolt

Landing door device

Jamb

M8X30 Bolt

JJ

M8X16 Bolt

                                                                           

                                     Drawing 15
2.3.4  Installation of landing door panel: Install the landing door panel according to drawing 3 and 16, ensure the parallel and plume line of fast and slow panel, fore and aft distance between two panels should be 4±1mm.


[image: image13.wmf]4

5

±

1

44

96

25

4 

40

40

4

5

±

1

39

112

27

40

4 

40

Washer

Washer

Door shoe

Door shoe

Landing door sill

Landing door sill

NB1610A001 Type Landing door device

NB1610A006 Type Landing door device

                                         Drawing 16
2.3.5  Weight hammer: B1610A001 Landing door device: Connecting its top part to the side door, and bottom part to the panel seal. Then, put the weight hammer in the guide set, and hang a steel rope in pulley with another end fixed on the fixing board, use bolt to prevent any fall down, and keep the distance with pulley less than 2.5 mm and without touch. B1610A0016 Landing door device: the top part of weight hammer fixed with over sling, and the bottom of its fixed with sill.

2.3.6  Adjustment of hanger plate: Please adjust the interval of roller and rail under the hanger plate to 0.1-0.3mm if there are too drag while opening and closing. As per Drawing 17
2.3.7  Door lock: Adjust door lock as the dimension showed in drawing 18

[image: image14.wmf]2

±

1

2

±

1

B=4

±

1

A=4

±

1

Gradient of door plate (A-B)

    is with in 

±

1

Screw down torque 

115～156kgf.cm

E=0.1～0.3

Door rail

Roller

Upper roller

Traveling of 

contact 2.5

±

1

Lock

Pothook

Adjust when door fully close

Contact(open)

Contact(close)


Drawing 17                      Drawing 18
2.5  Damageable parts

Damageable parts for landing door device
	POS
	Name of parts
	Drawing
	Qty/landing door

	01
	Special nut
	X04RXG08
	8

	02
	Door slider
	TA098-118G01
	4

	03
	Lock contact
	3UF0315
	1

	04
	Coupling
	TA022-630G01
	2

	05
	Contact plate
	SLB341736
	1

	06
	Insulation board
	DTP16101-08-2
	1

	07
	Pressed plate
	TA046-863
	1

	08
	Contact assy
	TA046-858G01
	1


Damageable parts for car door operator

	POS
	Name of parts
	Drawing
	Qty/landing door

	01
	Special nut
	X04RXG08
	8

	02
	Door slider
	TA114-612G01
	4

	03
	V-Belt
	L=1230
	1


3. Maintenance and protection

3.1  Motor bearing of the door should be added lithium lubricant, once a year.

3.2  Wipe rail when elevator is under maintenance, and check the deformation of hanger plant

roller, change it in time if deformation goes beyond 1.5mm.

3.3  When elevator is under maintenance, belt, wire rope and synchronous belt should be

adjusted in accordance with mentioned proceeding.

3.4  Common maintenance should check tension of standard parts.

3.5  Please check and change the rubber stopper of weight hammer if there is a unwonted

noise after use.
3.6  Regarding electrical adjustment please refers to operation manual of inve






PAGE  

_1152709082.dwg

_1152711709.dwg

_1152763764.dwg

_1152764119.dwg

_1152764834.dwg

_1152763425.dwg

_1152710480.dwg

_1152710621.dwg

_1152709303.dwg

_1152615772.dwg

_1152622638.dwg

_1152709037.dwg

_1152618309.dwg

_1152615761.dwg

